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Question Number : 1 Question Id : 3354725331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which country won the FIFA U-17 World Cup held in India? | &8 Sor = 9Ra # amaig $IwT sigt-17 s &9 a1 7
Options :

1. ¥ England | §TeiE

2. % Spain | qU4

3. ¥ Germany | STHAT

4. % Italy | szall

Question Number : 2 Question Id : 3354725332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The %lvkaloid Factory is located at which one of the following places? | FoATeEd § & 7 G9H W alFdTrise et

Options :

1. * Ratlam | W@od

# Mandsaur | HeEIT
¥ Neernuch | e
4 % Dhar | 9%

M

L

Question Number : 3 Question Id : 3354725333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (0

‘iémic_:h o%;e of the following bones is associated with the hurnan head? | FaefaT gEat § & @19 9 U a9 oieags

Options :

1. % Skull | U

2. ® Pelvis | Ug

3. ® Coccyx | ajiaw

4. ® Scapula | EﬁTITITF%Ta?TS’éﬁ

Question Number : 4 Question Id : 3354725334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

In which year was the Indian Institute of Forest Managerment set up at Bhopal? | Tora o wiuTe # e 19 o nerer
e ERIRIEIEE

Options :

1. ¥ 1977
® 1980
.V 1982
4 % 1985

r

(WA

Question Number : 5 Question Id : 3354725335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“World Habitat Day’ is celebrated on
AT AT 21

Options :
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1. ¥ First Monday of October | S/aR T UgaT SHaTK
2. % 1st October | 1 &FgaX

3. ¥ Second Sunday of October | STFgat &7 e (adri
4. % 2nd October | 2 sfFgaR

Question Number : 6 Question Id : 3354725336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The word ‘socialist’ was added to the Prearnble of the Constitution of India by which amendment? | T gare
T AT o Gl & nedTaT # GATaer d=g @1 A e T 417

Options :

1. ® 44th | 44
2. ® 27th | 274
3. % 21st | 214
4. ¢ 42nd | 424

Question Number : 7 Question Id : 3354725337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Who took over as Union Sports Minister in September 20177 | &dar 2017 # #2M € W3t &1 U e §9TAT?

Options :

1. ¥ Rajyavardhan Singh Rathore | T=aae &g 18k
2. ® Vijay Goel | o= mga

® K] Alphonse | &3 JAGE

® Jayant Sinha | 949 g7

RS

Question Number : 8 Question Id : 3354725338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

When was the Electronic Voting Machine EVM) first used in India? | ART H Selarg 11-a Si1e 1T A (2 10H) Tedl Ugel
el SESHTA @ THIT 017

Options :
1. ® 1982

® 1986
. ¥ 1998
% 2008

W

LY

Question Number : 9 Question Id : 3354725339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which of the following is known as the ‘Queen of Arabian Sea’? | 99 # & Tofel 'sRa 90K & THT & &7 H AT G 5

Options :

1. ¥ Kochi | ®iig
# Mumbai | a8
® Panaji | urt

# Mangalore | HAR

M

w

-

Question Number : 10 Question Id : 3354725340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0

What is the objective of Prime Minister’'s Econornic Advisory Council set up on 26th Septermber 20177 e,
2017 W TTUT W= HAT &1 1iSd AeATge Uiag &1 J599 F47 57

Options :

1. ¥ Creating new rural development schemes [ TTHIUT @ &1 92 F=T ST

2. % Recommend reforms in Banking sector | e &= # IR & [Ew1iesr &

3. ® Formulate economic policy for the next S vears | 30T 5 @81 o foiT amigie Aifd 397 @1

4. ¥ Analyse issues of econormic importance to the country | 337 & sITi9® Hgcd & Hg1 @ [dET0T FCAT

Question Number : 11 Question Id : 3354725341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Who %r?nong the following was a well-known Hindustani classical vocalist? | 9 # § & U Wiekg fgrgeamT ameiter
T

Options :

1. ® Pt. Hari Prasad Chaurasia | U. §iWeg ei&am
2. % Pt. Ravishankar | U, Tfe &7

3. ® Pt. Shivkumar Sharma | 0. ffagar aaf

4. ¥ Pt. Bhimsen Joshi | . twa= St

Question Number : 12 Question Id : 3354725342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The Shesh Shayi idol of which god is seen in the Bandhavgarh fort area of Umaria?| IAET & areang e # e
ST e S T e e

Options :

1. ¥ Lord Vishnu | «mam fawo]

2. % Lord Hanurman | WEm gqa+
3. ¥ Lord Shiva | wma= T

4 % Lord Krishna | 9TeT 9o

Question Number : 13 Question Id : 3354725343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Narmne the farnous temple of Sehore, said to be constructed by Vikramaditya and its renovation carried out by
Maratha Peshwa Bajirao? | €igR & 39 e HIG @7 A0 ad1y Fieed a9 § ol a7 g o g HaiT wmmiada grT #an
T T &% Sk AOgHT TUTST U< sl K1 T & 1T 917

Options :

1. ® Jain Temple | 99 AlT

2. ¥ Sidhha Ganesha Temple | &g T AfT

3. ¥ Hanuman Temple | §A™ AT

4, ¥ Lakshmi Temple | @§AT AT

Question Number : 14 Question Id : 3354725344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which one of the following rivers forms the southern boundary of Jhabua district? | Ziger e & giguft dmr &
i o & @19 o 731 Mead 1 37

Options :

1. ® Tapti | 9TE"
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[

¥ Narmada | 981
- ¥ Kalisindh | FeiiEy
® Tawa [ 91

W

Question Number : 15 Question Id : 3354725345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Bhagoriyva Festival mainly celebrated? | ST Scdd &0 ®0 & Fg BA141 A0 57

Options :

1. ¥ Bundelkhand | g¢ods
2. ¥ West Nimar | ukedt Fae
3. % Baghelkhand | T9@@s
4. ¥ Malwa | AT

Question Number : 16 Question Id : 3354725346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Narme the first worman ruler of Bhopal. | WA &1 Ugal AigdT STEE & A0 a5

Options :

1. ® Begum Sultan Jahan | sTTH Ged = 5=

2. ¥ Begum Gauhar Qudsia | sTTH gt Fafear
3. ¥ Begum Shah Jahan | =TH STggT

4. ¥ Begum Fateh Biwi | &TH ®dg dial

Question Number : 17 Question Id : 3354725347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which of these Gharanas does not belong to Madhya Pradesh? | Taia T @eel # € @19 Hed ney § Hai8d 751 o7

Options :

1. ® Maihar | fg¢

2. ¥ Gwalior | TaTieeR
3. ¢ Kirana | T
4. ® Senia | &=

Question Number : 18 Question Id : 3354725348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
is called the “Rani of Jhansi.” |

Options :

1. ® Rani Ahilya Bai | THT sifgeameams
2. ¥ Rani Lakshmi Bai | TH1T @sA @R
3. ¥ Rani Durgawati [ THT giad!

4. ¥ Akkadevi | srgnedr

Question Number : 19 Question Id : 3354725349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
MNational Mathematics day is celebrated in India on December 22 on the birthday of

T feae, 22 fgame® __________ & FeHTGad U AT AT 2]
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Options :
1. ¥ Harish Chandra | giede
. ¥ Srinivasa Ramanujan | 4i-ere Targse
. % Shakuntala Devi | 9gae 2at
¥ p.C. Mahalanobis { ft . Agm=ITag

[

AW

Question Number : 20 Question Id : 3354725350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Asper 2011 census, _________ is the second least populous state in the country. [ 2011 & F=0MET & A, T
T A Td TH ATTG] T T

Options :

1. ® Manipur | A0
#® Nagaland | 0TS

# Arunachal Pradesh | S@0EA T4
. ¥ Mizoram | oA

r

L

i

General Maths and General Aptitude

Section Id : 335472129

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472129
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
The average age of a family with 8 members is 42. If the voungest is 1 year old and the oldest is 101, then

what is the average age of the remaining 67 | 8 Geedl & Ud UNaR &l 16T o1 42 71 Il dad gle doed 1 oy @1y
S e gt 101 a9 & g, 97 99 6 T e g T4 57

Options :
1. % 35

L

Ly pa
B
L)

[y

L
~J

o
¥

Question Number : 22 Question Id : 3354725352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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What percentage of the following shapes are circles? / = 34'[?1?@7 CIRCTEl gﬁﬁﬁﬁﬁ-’
me AAMY
VavAY
oVave
Options :
1. ® 25%
2 % 3%
3. v 20%

4 ® 15%

Question Number : 23 Question Id : 3354725353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Lh

The remainder when 2x° — 18x* + 5x% — 6x — 20 is divided byx — 3 is . LB 8x3 + 5x2

—6x 20T x-3 ¥ fAwfda = W I9H giar ol

Options :
1. ¥ 43
® _43

L
% € X
~J

~J

Question Number : 24 Question Id : 3354725354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the remainder obtained whenp(x) = x* + x4+ 2x® —x + 1 is divided by x + 17/
p(x)=x*+x*+2x* —x+ 1 x+1 ¥ @0 T W T A9Fel 9o 8l &7
Options :

1. ¥5

L

=B

[

w

-

Question Number : 25 Question Id : 3354725355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If x2 432 = 1, thenwhat is the value of x? /TTE x2 +2 = 1,drx WIHIHH’HT??

Options :
i, ® 1

2. % x

w
)



15th Dec17 Shift 2

I‘-.J| b

Question Number : 26 Question Id : 3354725356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
/0,036 =7

Options :
1. ¥ 086
® 006

® 089

!\'_l

Ll

¥ 0189

NN

Question Number : 27 Question Id : 3354725357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Find the average. | 3ff&d e
19, 63, 30, 38, 20

Options :
* 51

—

L]

W

L0 I N B WA
L

L
<
J:.h

Question Number : 28 Question Id : 3354725358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The sum of roots of the equation x2+5x+6=0is___ /EHOTxI+5x+6 =0T Hﬁ & TTeTHel
J

Options :
1. ¢ -5

%5

r

w

4 ® _g

Question Number : 29 Question Id : 3354725359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The smallest number to be subtracted from 1382 to make it a perfect squareis _____ | Ut &t e & ey 1382
& T AT aTetT AgTH dEar
Options :

1. ¥ 13

®

L
#
=W

=

e
¥
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Question Number : 30 Question Id : 3354725360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Ram got 80% of the problems correct on a 25-problem test, 90% on a 40-problem test, and 70%on a 10-
problem test. What percent of all the problems did Ram answer correctly? | T = 25-8aTa! @l 70T 7 80% T,
A0-FATAT @1 TG § 90% Faler % 10-FdTe! ol GOa # 70% Talet Tg1 (o T = T Faal & Fof fd Widad @1 dgt

Options :
1. ¥ 54%
2. % 75%

. ¥ B4%

w

NN

Question Number : 31 Question Id : 3354725361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The average of 17 numbers is 70. If the average of the first nine numbers is 45 and the average of the last
nine numbers is 90, then the 3th nurnber is___ | 17 @&l #71 sf|d 70 31 I1g W 1 G&aal 7 oeT 45 § &R
SITA AT weEgraat @7 ofted 90 B, 91 9 g

Options :
1. ¥ 100
® 75
® 50
, W25

n

L

e

Question Number : 32 Question Id : 3354725362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If g of a piece of work is completed in 8 days, then in howmany days can the rest of the work be
completed? / T Ueh éw‘*g‘ ST o [T A H 8 T wercr g, o AW oot Bt A g
EL TS N

Options :

1.¥2

% 4

® g

w o

s

Question Number : 33 Question Id : 3354725363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Republic day in the year 1997 fell on a Sunday. In which year will the Children’s day fall on a Sunday? | af
1997 # mET g FIOST o Top g H# A Tl &1 427

Options :
1. ¥ 2002

2 ® 2001
® 2000
¥ 1999

w

LY
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Question Number : 34 Question Id : 3354725364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
If 12 men can finish a work in 20 days, then in how many days will 15 men take to complete that work? | Iig

12 =fes gaF @1 @t 20 o1 § OHE & 9@ &, 91 391 @14 & 90 @ ® 15 07 g e #1?
Options :
1. ¥ 12
V¥ 18
® 18
4 % 20

2

L

Question Number : 35 Question Id : 3354725365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The total age of Anil and Sanju is 14 years more than the total age of Sanju and Sunil. Sunil is how many

ﬁrg?munger than Anil? | SITe 7T G5 1 FeT 21 & 37 GATe bl ool oG & 14 a9 arfei 21 gAret i+ & foha ay

Options :
1. % 12
2. ¥ 14

* 18

4. ® None of these | 5AH § ®1E g1

w

Question Number : 36 Question Id : 3354725366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average of S distinct positive numbers in the systern is S6. The nurmbers are arrangad in ascending order.
If the middle term is 40, then what can be the largest nurmber? | Wl § 5 GI® G- GEd1ell @7 $1ed 56 g
TENT ARG 0 H SIaieed gl aie A Ug 40 §, a1 SITewdH TeEgT 47 51 9@d | 57

Options :

® g0

® 150
¥ 196

%

oW

Question Number : 37 Question Id : 3354725367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Simplify: / ETA®

xa—b Xxb—c w xt—a

Options :
L. %5

.2

= T

oW

Question Number : 38 Question Id : 3354725368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : ()
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1000
55

Eiril

X 574 % /625 % zﬁ simplifies to: /==~ X 5% x /625 xgﬁm‘cﬁ;ﬁ i )

Options :
1. ¥ 0.04
2. ¢ 25

3. ¥ 02

4.% 5

Question Number : 39 Question Id : 3354725369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Find the cornrmon rmultiple of 15 and 25 nearest to 500. | S00 % ey 15 Ud 25 F7 G 0F A1 6|
Options :

1. % 450

« 5o5

[

r

3

® 55

® 500

i

Question Number : 40 Question Id : 3354725370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
x5 — 435 + 4x* + 5%° — 20x2 +22x -10 when divided by x -2 leaves a remainder /x5 —4x% +

4x% + 5% - 20x2 +22x - 10 W x 2B e e W ke TEaTal

Options :

1. % 10

2. % -10

3. %8¢

4.v -8

General Hindi

Section Id : 335472130
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472130
Question Shuffling Allowed : Yes
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Question Number : 41 Question Id : 3354725371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
T AT T ST AT AT -
Options :

Question Number : 42 Question Id : 3354725372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TO G A FTIER ___ TEET R
Options :

%)
®

w
2

Question Number : 43 Question Id : 3354725373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
S| U, § R e 57

Options :

Question Number : 44 Question Id : 3354725374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

I ST TSR o | ST, a1 S Agd__ Tt e 8]
Options :

2. ® argATiEw

4 ® gdr

Question Number : 45 Question Id : 3354725375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘Tl UG AR THART 51 51 Gebd ' 39 a9 § IRT 07 &1 aq1em
Options :

W ﬂ 'Fll a

ASERT I
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Question Number : 46 Question Id : 3354725376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Y FT Ui aaE W H # @i ar ey
Options :
1. % 79
= e

o
$

Question Number : 47 Question Id : 3354725377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

T U ST AT He o o U geg MR O H R AT 7
Options :

4 ® JEUR

Question Number : 48 Question Id : 3354725378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘U & | foedg g o 9 & |r g?
Options :

1. ¢ ag+3ed

2. ¥ qr+3eg

4. ® gr+Ieg

Question Number : 49 Question Id : 3354725379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Toter @ty oo M H @ @ AT
Options :
1. ¢ f4aa
® R+
T

SoWo

T

Question Number : 50 Question Id : 3354725380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘AT @7 [aAW Jeg FE A F R AT E?
Options :

2. ¢ it

3. ¥
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Question Number : 51 Question Id : 3354725381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘I Uodd | &4 eg, Mg H @ B E?

Options :
2. ¥ Taw
4 % zhd

Question Number : 52 Question Id : 3354725382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
T STeg H 99 H | FI9 @1 @A 57

Options :

w

-

Question Number : 53 Question Id : 3354725383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

T diear grrat a ef g A W ar e
Options :
1. ® gred g

r

L

Question Number : 54 Question Id : 3354725384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘aEe W g T g A BT A gy
Options :

1. ® gy

W mﬂ'

W

e

Question Number : 55 Question Id : 3354725385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A e 5T S, Uad S 1o &,
AlTdT & FUScil B THY HT 16l
T &g H WIEd, TR0, TR & & Bl

UG H T A g war g 2
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Options :
3. VR
4. % qiF

Question Number : 56 Question Id : 3354725386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

"I, OTF | A= Sem”
H @I A7 AR 51 Gl ddead g7

Options :
1. ¥ IJHF SEEN

[

w

8 gif=aamT aET

s

Question Number : 57 Question Id : 3354725387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

“Thagd” Wedd aTeT Uit T o -
Options :

4 ® gad, T, THFS, THGT

W

Question Number : 58 Question Id : 3354725388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

oo | <1 T UThaT # § IHE STAET o JaTEl0 @ g #i-
Options :

2. % THE A T°F G

® T 0T I - IH TAUAT THH]

® g - uE ST AT T AR Gl g

w

-

Question Number : 59 Question Id : 3354725389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
* SEFR-IUFT TWEIT & -

Options :

2. ¢ Tt
Bwaﬁ—cmgﬁ
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Question Number : 60 Question Id : 3354725390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘TeRT | UgHY IUET adTEy)
Options :
1. % g
3.1
4 % g
Rural ECOHOI’[]';,F and Panchayati Raj
Section Id : 335472131
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: |
Sub-Section Id: 335472131
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the following districts has the maxirmurm nurnber of Gram Panchayats? | FaiaEs & @ g Fet o
SITEFTH TTH U= 57

Options :
1. ¥ Bhopal | {07

4. #® Chambal | ZF&

Question Number : 62 Question Id : 3354725392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the primary objective of Food Parks established in Madhya Pradesh? | 7ed Ua § ®1UT G2 U7k &7
T 5927 47 57

Options :

1. ¥ Cooking food | W= TETET

2. ¥ Food processing | @Ter Weed

® supplying food | @ret & amgid

4. ¥ Food marketing | @rert &7 faum=

L
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Question Number : 63 Question Id : 3354725393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Wwhich among the following districts of Madhya Pradesh has the highest percentage of workers dependent on

agriculture? | AEg ney ¥ THinEs § & forg Fer # it we fonde st @7 agaw widaa 27
Options :

1. ¥ Gwalior | TaTeaT
2. % Indore | T2

3. ¥ Alirajpur | ST
4. % Bhopal | ¥

Question Number : 64 Question Id : 3354725394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
A& scheme for training women farmers under the Madhvya Pradesh Wormen in Agriculture (MAPWA) PI‘OJECt Was

being implemented with the co-operation of which country? | ﬁ:‘@ré;&rﬁa‘ G‘g?ﬁTr TeTmes § Y Afgar
et 5 e R P 0 T 2 1 o Ao i R

Options :

® USA | 6gFT TN ST
v Denmark | SATE

® Australia | siTegierar

® New Zealand | Ig RS

b

W

-

Question Number : 65 Question Id : 3354725395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which among the following states is the largest producer of rice in the country? | FgeET # & &9 97 073 =Tdd
T Fad IST JeUIed 57

Options :

1. ¥ Kerala | %

2. ¥ West Bengal | W e

# Madhva Pradesh | AT ncar

® Tamil Nadu | Ti8#1S

Question Number : 66 Question Id : 3354725396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which is the %ioneering rural manage rent institute established by Dr Varghese Kurian in Anand, Gujarat ? |

TERIT o TG H ST, e e gl STV JTHIOT Heferd ST i a7 57
Options :
1. ®¥ Gujarat Co-operative Milk Union | TeRIT ®I-aiToeied e e

2. ® anand Milk Union | g Wew gi-ad
3. ¢ Institute of Rural Management, Anand | SECiege &TH oa A-He, S,
4. ¥ National Dairy Development Board | 959d 294 Sdd0fe a1

Question Number : 67 Question Id : 3354725397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
In the Constitution of India, Panchayati Raj is included in the

# i e T B

_______________ | T o gl o Tt T @

Options :
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1. ® Union list | 99 &t

2. % Concurrent list | 0ad! gt
« State list | T Tl

#® Residuary power | SwEi§e g

w

o

Question Number : 68 Question Id : 3354725398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Provision for 'Organisation of Village Panchayats' is contained in

TS| & SE-T o Toi] WTererT AT o Ficrer & H atAe 21

________ of the Constitution of India. | ‘UH

Options :

1. ¥ Part IV, Article 40 | A1V, Sigee 40

2. % Part XV, Article 329 | WXV, e 329
% Part I, Article 11 | WTII, S 11

% part X1, Article 245 | T X1, SIgaig 245

3

e

Question Number : 69 Question Id : 3354725399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The 12th Five-vear plan targeted an average annual growth of _______ % in agriculture. | 12 t=radia AT F7
AETF T H _______ TSI S g TeAT 9T

Options :
1. %B
2 % g
v 4
4. % 2

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

w

Question Number : 70 Question Id : 3354725400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
India is a party to the United MNations Conwvention on B1010g1ca1 DlVEI‘SltY S1gned at Rio de Janeiro on the Sth

day of June _____. [ C @ Sof To Toat St St # geangita Stice [afeerdT ot @@ T are- &7 UF Uy 91T 8]
Options :

1. ¥ 1969

2 % 1982

3. ¢ 1992

4 % 1994

Question Number : 71 Question Id : 3354725401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
________ is the cultivation of two or more crops simultaneously on the same field. |

T AT ST & SITEF B! &l Wl gl

Options :

1. ® Internal Control Systern | i =0T HUrTeT
2. ¥ Intercropping | SaUHEH G

3. ¥ Crop Rotation | B&a Sad -

4. ¥ Crop Diversification | wa [aferefamr
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Question Number : 72 Question Id : 3354725402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

When was the Pradhan Mantri Gram Sadak Yojana launched? | W=t W0 G=® 1o BT JHRH & g1 I17
Options :

1. ¢ Dec 2000 | fegwew 2000

2. ¥ Sept 2005 | &gvw 2005

3. % Nov 2009 | 9d€€ 2009

4 % July 1995 | JaT8 1995

Question Number : 73 Question Id : 3354725403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is known as "Vindhya Valley"? | FoAieEs & & ford "o 31 & 910 § 147 a7 37
Options :

1. ® Forest areas near Vindhya mountains | e uefd! & e @#1a9 83

2. ¥ Brand name of a private mineral water company | Wigde Wea a7t #ut & 78 &7 AH

3. ¥ A brand name of products of MP Khadi & Gramodyog Board | UTHUT GTel Ud UTAIEINT @12 & Ica1g o 7S &7 910
4. ® Name of a school in forest area | @9 &3 # fdene &1 9W

Question Number : 74 Question Id : 3354725404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What percentage of allocated funds is to be utilized for small & marginal farmers
under the National Mission for Sustainable Agriculture (NMSA)? | 7Y &M diuid et o oy T qad gy i
(TUHTED) & T8 STTaied THTer &7 feraar I feram =T 27

Options :

1. ¥ 25%
® 33%
.V 50%

® ooy

W

-

Question Number : 75 Question Id : 3354725405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

In which year was the Union Agriculture Ministry renamed as ‘Ministry of Agriculture and Farmers’ Welfare? |
Torer o # Sl o PN HATAT & ATH S B FIU U [T dedTT HaTee TET T 277

Options :

1. ¥ 2013
® 2014
. ¥ 2015

4 % 20186

r

L

Question Number : 76 Question Id : 3354725406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is Central Marine Fisheries Research Institute located? | #gel AU iy o=l SHETege (e THGT AT
ST T FET T 87

Options :
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® Goa | T

# West Bengal | TP T
v Kerala | 9%

4. % Maharashtra | HgRTYE

P

w

Question Number : 77 Question Id : 3354725407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘Bank Mitra’ is a person who is : | ‘&% = o8 qaik glarg

Options :

1. ® Friend of the bank manager | @ 8= &7 0T 51T 81

2. % Agent who gets loan for all villagers on a commission | @8 Tt St @l THaTET ®T FHIE 0T J00T feATaT 2]
3. ¢ Agent of a bank in unbanked remote areas | UH UET T U ol &1 T FIdT § g1 o bl I1G7 51 51a 1 3]
# Creates employment for villagers in a bank | &@ # U & &0 T ga #aT gl

e

Question Number : 78 Question Id : 3354725408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
“Vellow Revolution’ refers to a quantum increase in production of ______. | T T

Jheg T AT Z]

Options :

1. ® Petroleurn | Ueiaaw

2. ¥ Edible il seeds| @Ter dd & di
3. ¥ Chicken | =&

4. ® Industries | J=MT

Question Number : 79 Question Id : 3354725409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Narme the scheme that was launched by the Union Ministry of Rural Development to offer employment to tribal
youth in 24 Naxal-affected districts. | 24 e WTc ﬁ?rgﬁ‘vmwm 2T Zgarmatt i TR & o Toy g rer TredioT e
HATAT BT & @1 T AT BT A0 a1

Options :

1. ®¥ Rahini | Tig-T

2. ¥ Ranjana | &1
3. ¥ Roshni | TaHT

4. % Ujjwala | I=aar

Question Number : 80 Question Id : 3354725410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Whern was the Soil Health Card Scherme launched? | TaT TaTed H12 AT gl I &1 T8 417

Options :
1. ¥ 2015

2 ® 2017
® 2016
® 2014

w

-
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Cormputer Knowledge

Section Id : 335472132

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: |
Sub-Section Id: 335472132
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the lar%;ast and smallest font size available in Font size tool in M5-Word 20077 | THUE @2 2007 & UF“HE
HTHT (T2 ToT H e Held d2T o Hald T LhTrlc ST (A15) Elg‘qT%?

Options :
1. ¥ 58 4
® 74 10

r

0

70,

5

o
fa,

w

4 o

|

J

oa

Question Number : 82 Question Id : 3354725412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The process of removing unwanted parts of the figure/image is known as: | @ BT & sEifed 9w & g &
i e wEeE T 5

A

Options :
. % Cutting | wie

¥ Hiding | gigtem
¥ Moving | g

R 4 Cropping | W

| .

L

e

Question Number : 83 Question Id : 3354725413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS Word, portrait and landscape are: | U0 92 #, ige o deqFT 14 &,

Options :

1. ¢ Page orientation | U afegeas
2. % Page text style | U ¢9rqe GTTBd
3. ® Page number | O FeX

4. % page print | U fife

Question Number : 84 Question Id : 3354725414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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________ are specially designed cornputers tha;g%form complex calculations extremely rapidly. |

Tarfime &0 & f29me oy 7 FHuegey § S SAed T ST FAT o T
Options :
1. ¥ Seryers | gt

. ¥ Supercomputers | URFTIIET
# Laptops | #U2Y
# Mainframes | BHH

[

R

Question Number : 85 Question Id : 3354725415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

which of the following is NOT an MS Excel 2007 chart? | uAiaEad # € a7 U gugd UFdd 2007 I7% A5l 57
Options :

1. #¥ Doughnut | B¢

® surface | g

. % Radar | TEX

. ¢ Bookmark | gFAT

W

M

Question Number : 86 Question Id : 3354725416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Junk e-mail is also known as: | A# 5-Hd 56 A0 & W AT A4 5

Options :
1. % Error | G
2. ¥ Spam | g9

. % Spoof | Ty
% Spool | gyd

L

o

Question Number : 87 Question Id : 3354725417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which unit in a cormputer is responsible for managing the parts of the computer? | U® ®HIZET &1 P14 G T,

Options :

1. ® Logic unit | @@ e

2. % Arithmetic unit | eRffeE g

3. ¥ Control unit | #gia AT

4. % None of the above | IWIFT § & ®ls A5

Question Number : 88 Question Id : 3354725418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
In M5 Excel, the cell reference for a range of cells that starts in cell B1 and goes over to column G and dowr to

row 10 is: | THIH UFEd H, Hed & F o o] a5 §a (6w, Sasl aRY Bl H g s Fad G g1 10 99 94T 8, AT &
Options :

1. ¥ G1-G10

2. % B1.G10

3. ¥ B1;,G10

4. ¥ B1:G10
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Question Number : 89 Question Id : 3354725419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Line spacing isinthe ________ of M5 Word 2007, | gHUE @2 2007 & _______ H FTE qUET BT 8l
Options :

1. ¥ Home tab | W 29

2. ® Insert tab | 599¢ o

3. ® Viewtab | 9gd

4 ® Reviewtab | ﬁﬂj’-ﬁﬂ

Question Number : 90 Question Id : 3354725420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which one of the following keys is used to minirmize the active window? | T & & Tord git @71 Ju=iim, Uied fdet
T TS e o Toig fomarm ST g7

Options :
1. ® windows Logo Key + Home Key
* windows Logo Key + Spacebar Key

M

w

® windows Logo Key + Up Arrow Key

.Y

¥ Windows Logo Key + Down Arrow Key

Question Number : 91 Question Id : 3354725421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (0

which one of the following keys is used to delete the selected text? | eige T T Tge F1 12 1e #e & oy Torg
Gl T SHAATA (e ATdT 57

Options :

1. % Alt key

2. ® Ctrl key
3. % End key
4. ¥ Delete key

Question Number : 92 Question Id : 3354725422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
An educational institution will generally have which of the following in its domain name? | foret Mg daame &

ST 0 H G ®F § 50 & F97 547 11507
Options :

1. % org

v edu

® com

_[\_'J

w

# inst

e

Question Number : 93 Question Id : 3354725423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the expansion of SMS? | SMS T faRIgT &7 FaT 37
Options :

1. ¢ Short Message Service | 4T¢ Aa @iad
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2. ¥ Short Mail Service | &T¢ Ad Gidd
3. ® Simple Mail Service | THue A |idd
4 % simple Message Service | ToHue #e< |icq

Question Number : 94 Question Id : 3354725424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& dumb terminal has a/an: | 204 - § Ig 51T &

Options :

1. ¥ Embedded microprocessor | U@ Sid: G HIS® maaT

2. ® Extensive memory | Ugded ed HANT

3. ¥ Independent processing capability | atgs HTETET daieiae
4. ¥ Keyboard and a screen | #laig 3T 0w €A

Question Number : 95 Question Id : 3354725425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which number systerm is used by cormnputers to store data and perform calculations? | FHRICH ERT STCT HE ) e
S TG @ o T TR st woTTeET T FT T ST 37

Options :

1. ¥ Binary | amgaer
2. ® Octal | dTpead
3. ¥ Decimal | SEwa

4 % Hexadecimal | BFareiadd

Question Number : 96 Question Id : 3354725426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

________ runs on the computer hardware and serve as a platform for other software. | _______ FHIILT gladat
U T AT 5 S S QI caT & (o] U Qeie®id & & H daT HgH FdT o)

Options :

1. # application software | Uqiaa QIFeeT
2. ¥ Systemn software | ToEed digeday

3. ¢ Operating systermn | ST FEeed

4. % None of the above | IWIEHT § &1 Ta1

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 97 Question Id : 3354725427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

_______ i5 a temporary memory. | _______ & ST #EiRT 5|t 8l
Options :

1. ¢ Random Access Mermory | $SH Ugad BAIRT

# Read As Mermnory | U U9 AR

#® Read Access Memory | T Uged BART

# Randorn As Memory | $EH U= HATCT

M

w

-

Question Number : 98 Question Id : 3354725428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0

________ option is not available in "Cells” groups of Home tab in MS Excel 2007, | QHQHQW 2007
ooy, 510 2 & “§° YI9 H SUALH Al 517 2l

Options :

1. ® Insert | sqa¢
. ® Format | BiHe
¥ Sort | E@1¢

® Delete | f2dlT

4

W

e

Question Number : 99 Question Id : 3354725429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
____________ does not harm the computer resource. |

Options :

1. ® Worm | aH

2. ® Virus | arRg

3. ¥ Trojan horse | 2T 518
4. ¥ Firevall | BRRATA

Question Number : 100 Question Id : 3354725430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The shortcut key used to ‘align right’ the selected text in MS Word is: [ TAUE g2 #, @ige oy 70 dpge @1 Iy
TATE & o Toi, T aiféare gt @ ST T S 2

Options :

1. ¢ Ctrl+R
2. ¥ Ctrl+]
3. ¥ Ctrl+U
4. ¥ Ctrl+L



